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Read the following poem carefully.

Weavers, weaving at break of day,

Why do you weave a garment so gay?
Blue as the wing of a bluebird wild,

We weave the robes of a new- born child.

Weavers, weaving at fall of night,

Why do you weave a garment so bright?

Like the plumes of a peacock, purple and green,
We weave the marriage - veils of a queen.

Weavers, weaving solemn and still,

What do you weave in the moonlight chill?
White as a feather and white as a cloud,
We weave a dead man's funeral shroud.

Choose the correct alternatives. (1x5=5)
1.What do the weavers weave in the early morning?
a) a bright blue cloth
b) adull gray cloth
c) asoft white cloth
d) ared coloured veil
2.The is purple and green coloured.
a) dress of the weavers
b) dress of a new born child
c) the queen's marriage veil
d) the robe of a king
3.Whom does the poet address in the poem?
a) weavers
b) children
C) queen's
d) all the above
4.What do the weavers weave in the chilly moonlight?
a) agarment for the king
b) agarment meant to cover a dead man



c) agarment to keep away the chill

d) agarment to wrap a newborn child
5.The three stages of life mentioned sequencely in the poem are -.

a) infancy, adulthood, middle age

b) adulthood, infancy, middle age

c) infancy, middle age, death

d) death, infancy, adulthood
Grammar (1x5=5)
1.Deepa went with Yogesh to find Rashi. (Circle the finite and underline the non-finite verbs).
2.Mr. Hussain.............. a car. (have) (Use the simple present or present continuous form of the verb).
3.Martins’ and Lucas’ Flavours................ a well-known restaurant. (is/are) (Rewrite using the correct form of
verb given in the bracket).
4. By whom were you taught this poem? ( Change the voice)
5. I'said to him, “Did you enjoy the movie?” ( Change into indirect speech)
Writing Skill ( Any one) (1x5=5)
You are Ritam/ Ranita. Today was your debut cricket match for the school team. Write a diary entry describing the
experience and how you felt about it.

Or

Write an application to your Sports Teacher requesting him/her to exempt you from the Sports Day as you have

injured your arm.

SUB-SCIENCE F.M-15

A. MULTIPLE CHOICE QUESTIONS (1x15=15)
1. Stomata help in the process of - a.respiration b.transpiration c. Bothaandb d.neither a nor b
2.Lack of vitamin C cause - a. Beriberi b.scurvy c.night blindness d.weak bones
3.Movement of food through the alimentary canal is called by which term ? —

a.locomotion b.peristalsis c.pumping d.sliding
4.Bile is produced in which organ - a.pancreas. b.gall bladder c.liver d.stomach
5.0n absorbing heat the particles of matter - a.become bigger b.become smaller c.move faster d.move slower
6.A liquid gets heated up by - a.conduction b.convection c.radiation d.none of these
7.Which of the following fruits contains citric acid - a.lemon b.apple c.banana  d.all of these
8.Hydrochloric acid is a - a.strong acid b.mineral acid  c.reactive acid  d.all of these
9.Which of the following is needed for rusting- a.air b.water  c.both of them  d.either of them
10.When baking soda reacts with vinegar,the gas evolved is ? —

a.carbon dioxide b.water vapour c.carbon monoxide d.methane
11.Wind currents are due to -

a.humidity b.uneven heating between equator and poles  c.change in air pressure d.none of these
12.Soil that holds maximum water - a.clayey b.sandy c.loamy d.all of these
13.When we run or work out which acid forms in muscle cells -

a.hydrochloric acid b.acetic acid c.lactic acid d.uric acid
14.The S.I unit for speed - a.m/s b.km/hr  c.m/min d.cm/s
15.A concave lens is also called - a.converging lens  b.diverging lens  c.circular lens d.none of these



SUBJECT -MATHEMATICS

MULTIPLE CHOICE QUESTIONS: 2x10=20
1)Cost of 1 litre of oil is rs 83/3.Find the cost of 12 litres.
a)333 b)332 €)233

2)Sachin scored twice as many runs as Rahul. Together their score fell two short of a double century.How many runs did each
one score?

a)66,132 b)54,112 €)48,96

3)The first three terms of a proportion are 2,3 and 6.Find the fourth term.
a)8 b)6 c)9

4) 8% of the children of a class of 25,like getting wet in the rain.How many children like getting wet in the rain?
a)2 b) 4 c)6

5)The price of an article is rs 350.If there is an increase of 5% in the price ,what will be new price of that article?
a)377.50 b)367.50 c) 455.60

6)On a certain sum,the interest paid after 3 years is rs 450 at 5% rate of interest per annum.Find the sum.
a)3500 b)2300 €)3000

7)A door of dimensions 3m by 2m is fixed on the wall of the dimensions 15m and 10 m.Find the cost of painting the wall at
the rate of rs10 per sq.m.

a)1420 b)1440 c)1456
8)The length and breadth of a rectangular wire are 32cm and 12cm respectively.lt is bent into shape of a circle .Find the
radius of the circle.

a)28cm b)10cm c)l4cm
9)The difference in the measure of two complementary angles is 12° .Find the measures of the angles .
a)51°, 39° b)43°,47° €)50°,40°

10)Find the perimeter of a rectangle whose length is 40cm and diagonal is 41cm.
a)89 b)98 c)79



